VA - ALY

FfE R 1074065098

1B
B4t IJL R RER

OUT | IN | GR | HDCP | NET Bz
29 | 49| 144 346 |AE
41 4| 60/ 350 [AH
30 | (39)] 36| 354 [nm/rzsm
39 39| 36| 354 A%
39 39| 36| 354 |AH
13| 43| 72 358 |AH
29| 49| 132 358 |AE
29 | 49| 132 358 A%
18 28 | 12.0 | 36.0 |A%
48| 48| 120 36.0 |A
54| 54| 18.0] 360
48| 48| 120/ 36.0
18 48 | 120 36.0
53 53 | 168 | 36.2
47| 47| 108 362 |mE
41 4| 48| 362
46 46| 96| 364
45| 45| 84| 366
39 39| 24| 3.6
1| 4| 72 368 |mE
| a| 72] 368
2 2B =E 13 13| 60/ 37.0
23 |k —28 13| 43| 60] 370
24 |Ho i 13| 43| 60] 370
= BRI 43 $| 60| 370 |ma
26 |[5F =& 54 54 | 168 | 37.2
27 |nuL e 48 8 | 10.8 | 37.2
28 |um a2 18 18 | 10.8 | 37.2
29 |1t® %= 47 47| 96| 37.4
0 EEEEL 7| 41| 96| 374 |ma
TCEE 47 47| 96| 37.4
2 |t5 # 52| 52| 144 376
3 |sm &E 46 46| 84| 37.6
3 e =7 52 52 | 144 | 37.6
Eluz «7 52 52 | 14.4| 37.6 |Ra
3% |#t B 46 16| 84| 37.6
37 |#: W 46| 46| 84| 376
8 [BE w2 52 52 | 144 | 37.6
39 Lo =7 46| 46| 84| 376
o R 40 20| 24| 376 |ma
M [kE Ex 45 45| 72| 378
2 |mr = 51 51| 132 37.8
13 mm yuT 44 1| 60/ 380
1 |Ek =FA 56 | 56| 18.0] 380




5 e 1| 44| 60] 380 |mE

46 |—m == 56 | 56| 18.0 | 38.0

47 [ Ha 44 4| 60| 380

18 [xF #x 44 44 | 6.0 380

19 |xg == 55| 55| 16.8 | 382

o =7 55| 55| 168 | 382 |mH

51 |=m8@ m 43 13| 48| 382

52 Lo B4 13 43| 48] 382

53 |tk =F 43 13| 48| 382

54 |Em o 29 | 49| 108 382

=z &= 18| 48| 96| 384 |ma

56 | S 53 53 | 14.4 | 386

57 [+58 IEfE 4 41 2.4 | 38.6

58 |mE AT 53 53 | 14.4 | 386

59 LA 4— 47| 47| 84| 386

quﬁ g 52 | 52| 13.2 | 38.8 |mum

61 |mm == 26| 46| 72| 388

62 | %— 46 46| 7.2 388

63 |#t = 51 51| 12.0 | 39.0

64 [R3 FIE 51| 51| 120 39.0

=+ = 51 51| 120 | 39.0 |

66 |4 51| 51| 120 39.0

67 |l =z 56 | 56| 16.8 | 392

68 |FE = 50 50 | 10.8 | 392

69 [lum = 50 50 | 10.8 | 39.2

o B 49 29| 96| 394 |mE

7 s E 53 53| 13.2 | 39.8

72 |# m= 53 53| 13.2 | 308

13 [BE EmE 53| 53| 13.2| 30.8

4 =% =& 47 47| 7.2 308

Bl Fur 46 16 | 6.0 400 |mH

76 |mak Fna 52| 52| 120 40.0

77 s f— 51 51| 108 | 40.2

78 [tB% #e 57 57 | 16.8 | 402

19 | w2z 50 50 | 96| 40.4

80 B 55| 55| 144 | 406 |wa

81 |mm i 55 | 55| 14.4 | 406

82 |8k ZEX 47| 41| 60| 410

83 |km 59 59 | 18.0 ] 41.0

84 lum fRE 52 52 | 10.8 | 412

s 58| 58| 16.8| 412 |mH

86 |mO ok 58 | 58| 16.8 | 412

871 |mm @# 51 51| 96| 41.4

88 |&iE = 51| 51| 96| 41.4

89 |#E Bx 55 55 | 13.2 | 41.8
uE B 43 13| 12| 41.8 e

ﬁ/w %= 59| 50| 16.8 | 422




92 |WuFE FE=xE 52 52 9.6 42. 4

93 |[iF/K =83 46 46 3.6 42.4

9 |[WmE FRF 57 57 14. 4 42.6
s TIEE 61| 61| 18.0| 430 |me

96 |FEmE INEH 61 61 18.0 43.0

97 |iEE 61 61 18.0 43.0

98 (& & 60 60 16. 8 43.2

99 |{FiEE wHY 54 54 10. 8 43.2
mmzﬁ B 53 53 9.6 43.4 |FRE

101 |F+4%0 =& 57 57 13.2 43.8

102 |HiEE HEE 62 62 18.0 44.0

103 |JIIA #Rk 58 58 13.2 44.8

104 |lLE #F 63 63 18.0 45.0

105  [HN}m R S 63 63 18.0 45.0 |FRE

BB Ed:EEES 63 63 18.0 45.0 |FRE

BV  PAS IS 71 n 18.0 53.0 |RKE
BRAEWRYT7 - ExlEhE=REEMG-ELA-N:1-2-4-5-6-7 10-11-12-13-16-17




